
CSE311 Quiz Section: October 18, 2012

1 Problems 6,7 from homework.

2 More on sets.

Prove that A ⊆ B ↔ B̄ ⊆ Ā.

3 Memories of functions.

For all functions and mappings below, state whether they are injective, surjective or both (bijective):

1. f : A→ B , f(x) = 1
x

2. f : B → C , f(x) = x2

3. f : B → B , f(x) = x2

4. f : C → B , f(x) = x2

where:

1. A = {x|x ∈ <, x ≥ 1}

2. B = {x|x ∈ <, 0 ≤ x ≤ 1}

3. C = {x|x ∈ <,−1 ≤ x ≤ 1}

4 Modular Arithmetic.

(24, Section 4.1, 7th edition) Find integer a such that:

1. a ≡ 43 (mod23) , −22 ≤ a ≤ 0

2. a ≡ 17 (mod29) , −14 ≤ a ≤ 14

3. a ≡ −11 (mod21) , 90 ≤ a ≤ 110
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